Asignacion De Verano 2024
7° Curso Entrante

Estimado estudiante,

Esta tarea de verano te preparard para el éxito en matematicas de 7°
grado. Por favor completa los siguientes ejercicios este verano y
preparate para entregar tu trabajo el viernes 13 de septiembre a tu
maestro de matematicas.

Este paquete sera contado como la primera tarea del ano. Para recibir
crédito completo, todo el trabajo debe ser mostrado ordenadamente en el
espacio proporcionado o adjuntado a este paquete en hojas de papel
separadas. NO SE DEBEN UTILIZAR CALCULADORAS al completar este
paquete. Las respuestas escritas sin mostrar el trabajo (cuando sea
necesario) no recibiran crédito. Se les anima a trabajar en grupos para
ayudarse unos a otros, sin embargo copiar es inaceptable. Este paquete
consiste en material de 6° grado, por lo que se espera que usted venga a
este curso conociendo este material. Usted tendrd un examen durante la
primera semana de clases sobre el material en este paquete.

Si usted tiene alguna pregunta, por favor péngase en contacto con su
profesor de matematicas o jtalewsky@bbrook.k12.nj.us.

Atentamente,

The CMS Math Department



Instrucciones Para la Actividad

Cada problema de las pdginas siguientes vale 1 punto, 2 puntos o 3 puntos, segun se indica
en la parte superior de la pdgina. Puedes elegir los problemas que quieras en cualquier
pagina para completar tu trabajo de verano. Al final, debes tener un total de 20 puntos en
problemas para obtener crédito completo por este paquete.

Los problemas de 1 punto seran los mads faciles
2 Los problemas de puntos serdn de dificultad media
Los problemas de 3 puntos seran los mas dificiles

Rellene la siguiente informacién para que pueda seguir su progreso.

e Valoren | Respuest ST Valor en
problema

problema
elegido puntos a elegido puntos

Respuesta

Puntos Totales:




iNecesita ayuda?

Consulta los videos que aparecen a continuacion si necesitas ayuda sobre alguno de los
temas de este paquete.

Adding/Subtracting Fractions

=i
Adding and Subtracting Fractions with Unlike Denominators | Math with Mr. J

Multiplying/Dividing Fractions

How to Multiply and Divide Mixed Numbers | Math with Mr. J .

Adding/Subtracting Decimals

Adding and Subtracting Decimals (How to) | Math with Mr. J

Multiplying/Dividing Decimals

A Quick Review of Multiplying and Dividing Decimals | Math with Mr. J i

Integers/Rational Numbers on a Number Line
Decimals and fractions on a number line | Decimals | Pre-Algebra | Khan Academy

Absolute Value
What is Absolute Value? | Absolute Value Examples | Math with Mr. J

Distance on the Coordinate Plane and Perimeter
Coordinate Grid: find area and perimeter

Write and Evaluate Algebra Expressions
e

Writing an Algebraic Expression for a Real-World Situation

Writing Algebraic Expressions (Two Operations) | Math with Mr. J
Simplify Algebra Expressions

An Intro to Combining Like Terms | Simplifying Expressions by Combining Like Terms | Math with Mr. J {5

Adding/Subtracting Equations

Solving One-Step Equations with Decimals & Fractions | Expressions & Equations | Grade 7

Multlplymg[Dmdmg Eguatlons

Writing Equations

Writing Equations from Word Problems | MooMooMath and Science

Area of Parallelograms and Triangles

Area of Parallelograms and Triangles | The Middle Cafe T3

Surface Area/Volume

How to Find the Surface Area of a Triangular Prism | Math with Mr. J : :




Tareas de Un Punto

What is the value of
1,242 =+ 18?7

Find the quotient.

- R
27 I13=

3.

What are the coordinates of a point in
Quadrant Il which is 5 units away from
point P?

Two cities had low temperatures for
the day of 10 and 5 degrees below zero.
Write the temperature closest to zero
as an integer.

d.
Write these
numbers in
increasing order.

6 3 5
3 T4 1.5,0.25. —Z

6.
Check all the
expressions that have
a value of 13.5 when
s=1.5.

O £+131

() 21+s

() B75+s) —2365
() 652

Qs

7.

Evaluate the expression below.
(4.4 +7.6)x — (24 ~12)x

8.

What is the value of t in the following
equation?

1_5Z
by =243

Q.

April pays a dog-walking service $30
each week to walk her dog. Complete
the table to show how many dollars,
d, April spends on dog-walking in

w weeks.

d 30 90 | 120

10.

An animal shelter with only dogs and

cats has a ratio of cats to doas thatis 9:7.

What is the ratio of dogs to all
animals?

11.

What is 0.4% of 10?

12.

For each fraction, decimal, or percent,
write the equivalent number from the
list below.

19 9
0.68, 13, 55, 80%, 0.54

38% 5

50
4
: 045
17
25

13.

Find the area of the
figure below.

14.

What is the surface area of the
triangular prism shown?

14m 25
1om A
24 m 25m

195.

Evaluate 2¢ + 2w for £ = 5.2 and
w=6..

16.
Chad earned the
following test scores:

75, 85, 100, 87, 80, 70, 95, 91

Would the mean,
median, mode, or
range show how much
he improved overall?




Tareas de Dos Puntos

17.

Raven is making pillows.
Each pillow requires %
yard of fabric. Raven has

of fab 62 lyardsd the
numbers of pillows
Raven can make.

18.

Draw a polygon with vertices at
A(4,-1),B(1,-1),C(1, 3), and D(4, 3).
What is the perimeter, in units, of
polygon ABCD?

19.

Write an inequality that
compares one of the
fractions to one of the
decimals.

Al

6 _3
g —2 15,025, —

20.

Mr. Parker wants to rent a cargo van
for a day. It will cost the daily fee of
$50 plus $0.35 per mile driven.

Let m be the number of miles

Mr. Parker drives for the day. Write an
expression that shows the amount he
will pay for the van.

21.

Mr. Daniels is organizing a class trip.
He wants to spend less than $900.
The bus rental costs $600. Mr. Daniels
will also buy tickets that cost $9.50
per student.

Write an inequality to represent
the number of students, y, that
Mr. Daniels can bring on the trip.

22.

Mrs. Banks wants to make 44 gt of
jelly with 70 Ib of fruit. If each gallon
of jelly needs 6% Ib of fruit, will she
have enough fruit? How much
leftover fruit does she have, or how
much extra fruit is needed?

23.

Jessica is buying several bunches
of bananas to make desserts for a
fundraiser. She can buy 10 pounds
of bananas for $14.90 or 8 pounds
of bananas for $12.08. Which is the
better buy? Explain.

24.

All but 4 of the 50 state capitals have
an interstate highway serving them.
What percent of the capitals do not
have interstates?

25.

Paula weeded 40% of her garden in
8 minutes. How many minutes will it
take her to weed all of her garden at
this rate? Explain.

26.

Write an equation to
describe the pattern in
the table.

27.

Caroline is making a triangular

flag with a base of 10 inches. The
perpendicular distance from the base
of the flag to its vertex is 8 inches. What
is the area of the flag?

28.

Ed’s birthday is less than 16 days
away. Ann writes the inequality

d < 15, where d equals the number
of days, to represent this. Is Ann
correct? Explain.

29.

Eva is picking fruit at a
farm. The fees are $5 for
entry to the farm, $2.50 per
pound of berries, and $2
per pound of apples. Let b
be the number of pounds
of berries and a be the
number of pounds of
apples. Write an
expression for how much
Eva will pay total for b
berries and a apples.

30.

Sebby says that the mean is a better
measure of center for the data
below because the data are clustered
together. Do you agree with Sebby’s
reasoning? Explain.

Distances Run at Practice

N+ ©® & @
A1+ 0 00

e
w+ e e e e

Distances (mi)

31.

Miguel listed the ages of his cousins
in years:

2,4,18,2,7,14,16,7
The median of the data is ;

,and the
.The units of

the third quartile is
first quartile is

measure are

32.

For the number line shown which
statement is not true?
| |

T T T
a 0 b

@ |a|>b
—|b]<b

© |a| >a
© |lal<]b|

Explain your reasoning.




Tareas de Tres Puntos

33.

Employees of a landscaping company
built a retaining wall with area

23% sq ft. They used brick to make

the top portion of the wall.

8% feet

Suppose the area of the brick portion
of the wall is 1575 ft2 What fraction of
the wall is brick? Write an equation to
show your work.

34.

At her health club, Lauren uses a
treadmill every 2 days and the weight
machines every 8 days. She used a
treadmill on March 2 and will use

the weight machines on March 8.
Lauren says that the first time she

will use both a treadmill and the
weight machines in March is March 16
because the LCM of 2 and 8 is 16.

Does Lauren’s reasoning make sense?
Use an example or a counterexample
to explain your analysis.

The graph shows Rudra’s walk.

35.

Distance (feet)

0

0o 2 4 6 8
Time (seconds)

Use t for time and d for distance.
Identify the independent and
dependent variables in this situation
and use them to write equation that
represents his walk.

The circle graph shows how Spencer
spent his money in the month of July.

36.

Spencer’s Expenses

Entertainment _~Clothing
18%

44% 11%
~—Gasoline

Food

If Spencer spent a total of $704.00
in the month of July, estimate the
amount of money he spent on
clothing, to the nearest $10.

37.

Two figures are arranged as
shown. Write an expression for
the area shaded in light gray.

Jake drew a model on grid paper of a
kite that he wants to make. Each grid
line represents 10 cm. His drawing has
coordinates (1, 5), (3, 6), (5, 5), and

(3, 0). Sketch Jake’s kite, and calculate
the area of the real kite.

38.

y

39.

Noah wrote that 6 + 6 = 12. Then he
wrotethat6 +6 —n =12 — n. Are his
equations balanced? Explain.

40.

The same digits are used for the
expressions 3* and 43. Explain how to
compare the values of the expressions.

41.

Write and simplify an expression for
the volume of a rectangular prism
with length 7.5 ft, width w ft, and
height 4.2 ft. What is the volume if
the width is 2 ft?

42.

Large balloons are sold in packages
of 12 and cost $1.50 per balloon. Each
of 4 friends gets an equal share of
balloons from p packages of balloons.
Write an expression to represent how
much each friend must pay.

43 . Jase earns $5.00 per lawn mowed and
$5.00 per car washed. Let m be the
number of lawns mowed and let ¢ be
the number of cars washed. Select all
the expressions that could represent
the total earned, E in dollars, by Jase.

C] E=5m+ ¢
D E=5m+c
D E=5+mc
C] E=5c+m

() E=5m+5c

44.

McKenna kept track of the number of
miles she rode her horse each day for
2 weeks.

3,25,5,25,8,10,4,0,6,6;,2,2,6,9

McKenna says that she typically rides
her horse for about 6 hours because
the mode is 6. s McKenna’s conclusion
appropriate? Explain.




Nombre; Hoja de respuestas (Escriba el nimero del
problema en la casilla)




Nombre; Hoja de respuestas (Escriba el nimero del
problema en la casilla)




Nombre; Hoja de respuestas (Escriba el nimero del
problema en la casilla)




One Point Task Answers

1. 2. 3. 4.
2
69 1 13 (—3,3) -3
d. 6. 1. 8.
,% ,% 0.25| 1.5 % . %+131§ 1OX 1
: : : D 21 +5 t = 2§
@ 375+5) —2365
@ o2
Qs
9. 10. 11. 12.
o
7 O 04 38% 50 %0.594
: 310 620 93:) 130 1;0 W . %800/0 e 20
17 0.68
13. 14, 15. 16.
45 sg. m
976 m? 23.8 range




Two Point Task Answers

17.

11 pillows

18.

14 units

19.

Sample answer:

~32 <0.25;0.25is
located to the right
of — % on the number
line. It is the greater
number.

20.

50 + 0.35m

21.

9.5y < 300

22.

No, she will need 1% Ib more.

23.

10 pounds for $14.90
is the better buy.

24.

8%

25.

20 minutes; Sample
answer: Let m
represent the total
number of minutes it

27.

40 in.2

28.

No; Sample answer:
The number 15 is also
a possible number of

will take Paula to weed days until Ed’s birthday.
her garden: 0.4m = 8.
Divide 8 by 0.4 to find
that m = 20.
29. 30. 31. 32.

Sample answer: | do I:etr:.ejia” °ft:h?dat;’; 7d : . lal < |b]

. e third quartile is ,and the
:I(::)augt:lleeer.:th;rnilllses first quartile is 3 .Theunitsof Sample Answer:
25b+ 2a+5 measure are YEATS. Absolute value will

Outliers affect the
mean. The median,
3, is the more typical
number of miles run.

make the number
positive, so since a is
farther away from 0, |a|
will be bigger than |b|.




Three Point Task Answers

33.

3 -
271 feet; 3

34.

No; Sample answer:
Lauren’s reasoning
does not make sense.
The LCM s 8, not 16.
So, March 8 will be
the first time she uses
both a treadmill and
the weight machines.

35.

independent variable
= time, dependent
variable = distance;
d = 6t

36.

$210.00

37.

92_X2

38.

1,200 cm2

39.

Yes; Sample answer:
Noah subtracted the
same variable from
each side, so the

40.

Sample answer:
34 =3x3x3x3
= 81;

43 = 4 X 4 X 4 = 64.

41.

V=75X42X w,or
V = 31.5w; 63 ft3

equations are balanced.
1 So, 3% > 43,
42. 43. 44 Sample answer:

McKenna'’s conclusion is
= + not accurate. The mode

. s L of her data is 6 hours,

4.5 (J E=5m+c but more than half of
& p the time she spends less
(J E=5+mc than 6 hours riding her
D F=5c+ horse. It would be more

=261 M accurate to say that

. E=5m+ 5c

McKenna typically rides
her horse between 2.5
and 6 hours.




